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1. gt e e
(a) T 9RT A TSR TS .
(b) T 60% WP VAR 2.
(c) 24 wTToW (F0) a7 A HewaTar wm TR
TR P! AR TER 3T ? TOo WEHYA 9ra g9y e
(1) o (a) SUS . (2) R (b) M (c) IV .
(3) H (a) W (c) TR TR (4) FOOTEH IR TAE TS ARl
Consider the following statements about Sundarban.
(a) Itis spread across India and Bangladesh.
(b) 60% of its area lies in India.

*
() 24 Parganas (South) Forest Division is part of Sundarban\Q
*
Which of the above statements are true ? Choose the co@opﬁon from the following

options. @
(1) Only (a) is correct. (2) O‘ﬂ@nd (c) are correct.
(

(3) Only (a) and (c) are correct. 4) 6@9 of the above
AN

2, rr.ﬁ.%iﬁaﬁvﬁfﬁafm%ﬂl%ﬁ?,\l_%
\
(@) RN (b) ﬁ@s (c) o= ) fafam

uatEr 397

(1) %= (@), (b), (c (2) = (a), (b), (d)

(3) W (a) (¢ 4) FH (b), () (d)

Which books are written by R.C. Dhere ?

(a) Chakrapani (b) Trividha () Lajja Gouri (d) Vichitra
Answer options :

(1) Only (a), (b), (c) (2) Only (a), (b), (d)

(3)  Only (a), (), (d) (4)  Only (b), (c), (d)
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3. 'rvae dAgH fEEe frm! (AR TeEEaen faymren faem w8
(a) [T 2016 T YA Al TTE GG HA.
(b) 9T TTeTd 35 U WTHE 37,
(c) WeTE WIaTHl HHISY YN AR wade fHafa Fa= 2w wer o

(d) &9ume anfor Sk forfea fommi=n a9 JereR fE=w 399 71 a1 e wailka =

I IR,
Slete P i aireT ST/ 3R ?
(1) % (a) 3 (b) ) a) S (c) \(\
(3) %9 (a) ST (d) @ w Q}(O

Consider the statements about ‘Missile Technol Q’rol Regime’ (MTCR) group.
(a) India became the member of the g@ June 2016.

(b) 35 countries are members of‘&@up.

{c) It is the first time that Imgi@Mias been included in such an International level export
controlling group.
L 4

(d) The prime aim € group is to control the spread of missiles and pilotless aeroplane
technology

Which of the statements given above is/are correct ?
(1) {(a) and (b) only (2) (a) and (c) only

(3) (a) and (d) only 4) Al

HeAT HIAMEIS AT /SPACE FOR ROUGH WORK
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. TH. AR 3N, B
() 3femm wem fad st
(2) IeTTE T fome v mEgeH
@) FIe wEdAfEE fod sffamagee
(4) 3w vw fud trfrasRe
ISRO stands for :
(1) Indian States Research Organisation
(2) International Space Regional Organisation
(3) International Scientific Research Organisation
(4) Indian Space Research Organisation
i o s &
(a) FAEA FFE gemeT goey AY TR @
(b) ForeT 1970 w2 TR gfmammss wearh
(c) R A IHew 9 uftET FHA E&@&W
Tt I \L~
(1} = (a), (b) (b&,\ T (a), ()
(3) ®H (b), (d) Q (4) =G wd
Select the correct stat S :
{a) The headq s of European Union are at Brussels.
(b) Britain joined the European Union in 1970.
(c} Court of Justice and European Commission are sub-institutions of EU.
Answer options :
(1) Only (a), (b) - (2 Only (@) ()
(3) Only (b), (c) {4) All of the above
HEAT HIWWIS FT /SPACE FOR ROUGH WORK
P.T.O.
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6. % ‘ez Peiamor 31 At ST faumrEn AR w5,
(a) I SFTIEH, W Hifeed g1 1A Fal.
(b) ‘wifeca favRg’ snfon ‘Isgvren weior’ 1 wden o S e,
(c) ‘'wifecT el TREFRT 3 F=1d F0a1d 3T B,
(d) ‘4 3 - 35T =nftr fasra’ a1 = STATSAT RIS FHIeATgal e 9 el
0 fqumit! Hivr foaum xreR 2R ?
(1) 9B (a) 0 (1) (2) e (a) ¥ (o)
() ¥ () anfin (d) @ wd
Consider the statements about late ‘Ramchandra Chintaman Dhere’.
{a) He studied the folk literature, ancient literature.
{b) He passed the ‘Sahitya Visharath’ and ‘Rashtrabhasha Pravin’ examinations.

{c) Received ‘Sahitya Academy Puraskar’. .
(d) Died before publication of his last book ‘Shree Nrusinha - @and Vikas'.

Which of the above statements are correct ? K@ *
(1) (a) and (b) only @ (@ and QG
(3) (a) and {(d) only 4) Al %
7. W 3 RIYHTE gfeen Afge JeaHA Wé
(1) e goar % HeEaal R
3y fensg ’\*{'4) 7 s
Who is the first woman Chief Xr of Jammu and Kashmir ?
(1) Razia Sultan (2) Mehbooba Mufti
(3) Hina Bhatt ¢ (4) Sheikh Hasina
“‘
8. Wuﬁu@mw‘ﬂﬁwnw o T HTeEe .
(1) T (2) U™
(3) TEIM (4) TeefEOn
Haryana's internationally famous district Gurgaon is currently known as
{I) Gadegaon (2) Gurudham
(3) Gurugram (4) Gurudakshina

el SHTHTETS! /SPACE FOR ROUGH WORK
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9. f& 2171072015 U=, IR @es, 2012 - 13 =t * Rrars=adt Tiedifys’ 7 @i W ikt et

EQUE

(@) ‘e a’ @) e T
(b) HHETSH (t) T fage
(© T (i) feet |me
(@ ‘fosmmr’ (iv) O STt
Taft T

@ ¢ © @

O @ © G @

@ @ @ 6 o Q
@) (v @) @ 6 Q.}%‘

4 O @ @ () 9
Match the ‘Shivchhatrapati Awards’ of 2@0 v declared on 21/10/2015, and

recipients :
(a) ‘Jeevan Gaurav’ (i) Rahi@at
(b) Shooting (ii) - Vipat
(¢) Gymnastic (id andhini Bongade
(d) ‘Jeejamata’ ’Q) Roma Jogalekar
Answer options :

(a) (b) (d)

O @ @ @) (i)
2 @ (v) @ @@
(3 @) (@) @ @

@ O @ @) (v)

HeAT HIWMES AT /SPACE FOR ROUGH WORK
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10. 9NIY FYA/HY e ¢
(a) Tiah sifoltas e 207 G9 FEwFilt e,
(b) Tieh Aol ar=ri= ST TR BaMH 950 A fawarak w=) #3104 e,
() 31 sAffefivs @@= STHERA AT FIAM S,

qFi I
(1) ™ (a), (b) (2) W (), ()
(3) (), (©) (4) oot T

Select the correct statement/statements :
(a) 207 teams participated in Rio Olympics.

(b) During the inauguration ceremony of Rio Olympics the issue of climate change was

discussed.
(c) 318 Olympic games organised in Brazil.
Answer options :

(1) Only (a), (b) (2) Only (a), (©)
(3) Only (b), (c) (4) All of the above ’\\Q
11. 88 o1 3THhICH! SAISAY ‘ 3fea uifkaitash ' foor femve 3 @i Ui Bt FU
it
H1 A%
a9

Amy

Son of Saul
Bear Story

Inside Cut

(@ (b)) (c) (d)

O @ @ @ 0
@ O 6 @
@) @) @ O o
@ ® 6 6 @
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12. TS 2016 543 WSSt o I Ty HEEET Tt T ?

(1) e fam fag 2) g e

(3) Sl geeHvIH @ (4) S . Forsil wg

In July 2016 who among the following resigned from Rajyasabha membership ?
(1) Navjoyta Singh Siddhu (2) Narendra Jadhav

(3) Dr. Subramaniam Swamy (4) Chhatrapati Sri Sambhaji Shahu

13. 2014 ¥ 2016 ¥ FOEHT HIoHM 3= AN TSI AT S0 S ?
(1) G TR (2) =T HE Iy
@) T = e (4) = fFo o

Who was the Chief Justice of Kolkata High Court fron@t‘to 2016 ?
(1) Sujata Manohar (2) Dr. @;1 a Chellur
(3) Dr. Rajni Patel (4) an Ahluvalia

14. 'O®' 990 Eiods $a faum aﬂ%%?

(1) TR T TS %‘
P\

(2) 3.9 2003 9% e faerdl arouat A A9E | 3R AR F.

(3) T TS 3000 IR,

llowing statement is not correct about ‘“Tejas’ ?

(1) Fighter plane made in India.

(2) Was named as ‘Tejas’ in 2003 by the then Prime Minister Atal Bihari Bajpeyi.
(3) It has a range of 3000 kilometers.
(

4) It will replace ‘Mig-27" fighter aeroplane.

HEAT HIMH- AR /SPACE FOR ROUGH WORK

P.T.O.
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15. affead 2ieet i v 1Y fods e ?

(a) I (b) df fae

(0 wEI= (d) TR

Tait I ;

(1) (@), (b), (©) (2) B (a), (b), (d)

(3) W (a), (), (d) 4) e (b), (o), (d)

Which books are written by Alvin Toffler ?

(a) Future Shock (b) Power Shift &6 oQ

(c) Third Wave (d) Future W&

Answer options : QQ'
O

(1) Only (a), (b), (c) (2‘)'9 y (@), (b), (d)

N\
>
Q

4

(3)  Only (a), (), (d) ) Only (b), (c), (d)

16. YRAE T T faumgy=ET SRk S 9vTae 9e T o ?
(1) 550 (2) 250 (3) 100 (4) 500

What is the maximum number of members in a State Legislative Assembly fixed by the
Indian Constitution ?

(1) 550 (2) 250 (3) 100 @) 500

oAl FHIATATSE AT /SPACE FOR ROUGH WORK
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17. U S IUGH THOS JOT BFh 9 AHEHIS (eHede Hed diedl Siredl oAl :

A q
(o & ) (o)

(a) HTERTEHER HYF (i) FOH 28
(b) ifaa fon sxferma wmasa W (i) OH 14
() s |WE= (i) FH 25
(d) e drainw afde fasor (iv) o921
uﬂféﬁ 3“:{' M

(@ (b)) (0 (@
1 @ @ @ @)
@ () @v) () @ @§Q
Gy @) @ @) (@) Q}

@ v @ @ (@)
Match the following pairs regarding Fundm@l'?ights of foreigners and articles in the

Constitution :
SO
(Fundamental Rights) @ (Articles)
{a) Equality before law \ (i) Article 28
(b) Protection of life anQrsonal liberty (i) Article 14
(c) Freedom of Reli (iii) Article 25
(d) Religious

tion in Educational Institutions  (iv) Article 21

@ v @ O (@)

oAl RIS SN /SPACE FOR ROUGH WORK
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(a) URETR AARRGH (i)
(b) fauras wEwiER fEe (i)
(o) T Fraa (ti)
(@) fewes morged (iv)
it I

@ () (@
1) @) @ Gv) ()
() (@) @v) @ ()
3 v @) & @
4 ) @ @ (@)

Match the pairs - (Legislative Council) :

. N
(a) Graduates Constituency 6

(b) Elected by Legislative Asser?éﬂ'\}te:mbers

c) Nominated by GovernorQ

—

L 2

(d) Quorum of Counci

Answer options :

@ () (% @
1) @ @) @) 6
@ @ @) O W
(G (v) @) @ @
(4) (v) @) @) (i)

1/10 ¥e&
1/12 9=
1/3 T<E

1/6 He=A

&
\‘9
%
R

i)  1/10 members

(
(i) 1/12 members
(iii) 1/3 members
(

iv) 1/6 members

HEAT HIATATS, AT /SPACE FOR ROUGH WORK
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19, 73 1 HIIGERN HIFUHER YEEd U dee Faevmn sefavaridt FH wHt fRdt sEwata
AATTF 3T ?

(1) 25=% (@2 18a% (3) 2199 4) 309

According to 73" Constitutional Amendment Act, the minimum age for contesting the
Panchayat Raj Elections is :

(1} 25 years (2) 18 years (3) 21 years (4) 30 years

20. TEYEEGE SEATH! QT HI0TE] ?
(a) mmmmmﬁmmu&%m
(b) TTERE T Foedl STHH HEorIs 30% e TTHRE ’fqaa‘r.
(©) WWWWW@QWW%
rves T Prare ; 69
M @ o ﬁ&? @ @ © @ ho wd

What are the sources otQ@'e of the Gram-Panchayat ?

*
(a) Main incom es of the Gram Panchayat are House Tax, Water Tax and Tax on

30% share in the land revenue collected from the village.
{c) Itreceives grant from state Government for the implementation of various schemes.
Select correct option :

1) @ b (2) Only () 3 @ © (4)  Allthe above

THoT RIS ST /SPACE FOR ROUGH WORK
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21.

14 A

‘ST BrERE AR WA @l < aRgeiared v faem aies e ?

(1) 3tegs 3 S g ToHIS HTdw.

(2) = AT ThHOTAERRE ERe TSR U1 T 96 HIal 4a -l

3) ‘'S e’ sty (ad <t et e o fug semfver yeHeE
AT 47 1L

(4) TEIS I SFFUTATH Far ARG Ui F6 whd, WY aSawra SHyEH ARare
TSI 3R,

Regarding the provisions to ensure the independence of “State Public Service Commission’,
which statement is not correct ?
(1) The Chairman and members are appointed by the Governor of state.

(2) Conditions of service cannot be varied to their disadvantage during the term of
service.

(3) Cannot be removed on the charge of “Misbehaviour’ unless inggstigated and proved
guilty by a ‘High Court Judge'. ¢

(4) Governor can suspend the guilty but dismissing auth(z@s»\resident of India.

A
22, ANY HUA/FYA ST, QWW
(a) 42 = TSAGENEN TlAUFTA Hovd Fasd 3T
(b) 86 = HSAIGEHIGR HiFyAm 11 9 FIOIT 3T,

qaier 39 Q
(1) W () \& :

(2) P Y (b)
(3) = FUA (a) IO (b)
(4) TrE HYA (a) S0

Select the correct sta

nt/statements.

(@) Forty seco onstitutional Amendment added Fundamental Duties to the

Constitutiorn
(b)  Eighty sixth Constitutional Amendment added eleventh duty (K) to the Constitution.
Answer options :
(1)  Only statement (a)
(2) Only statement (b)
{3) Both the statements (a) and (b) are correct
(4) Both the statements (a) and (b) are incorrect

FroeAl HIAMES 9 /SPACE FOR ROUGH WORK
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23,  YRGH YSRAEE T2 d @ ST 5 Jie Aedl e ¢

(1)
(2
(
(

o’

3)
4)

Match the following pairs regarding the st
year :

(a)
(b)
(c)
(d)

Answer op

(1)
(2)
3)
(4)

(a) (b)
(iv)  (iif)
@ ()
(i)  (iv)
(i) @)

A
(State)
Nagaland
Manipur
Goa
Jharkha

@ )
@
0
)
i)

(i)
(it)
(iv)
(i)

(©
(i
(i)
0
(iv)

S 3

(c)
(11)
(i)
(i)
(

iv)

15

o
( TTaAT oY )
G 2000
(i) 1987
(i) 1972

(iv) 1963

e

(Estat&nent Year)

2000

Q (i) 1987

@
0
()
@)
i)

(i) 1972
(iv) 1963

uos

a@ dian federation and their establishment

FHoAT HEEIE ST /SPACE FOR ROUGH WORK
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24, I fauH Hew
(1) weea EEAEY Fis 34 e gl Ahed Ry 3R,
(2) TH WA AT T RN TRE 37 IR,
(3) W I SIS ™A AR aniEt gl fEE .
(4) ST YeR e (! Tt & YRArs e e Sed- HHeitiat
EZGIGR
Select the incorrect statement :
(1) Like the Supreme Court, each High Court is also to be a court of record.
(2) A High Court Judge may be a citizen of India.

(3) Every High Court has full control over its staff.
*
(4)  Chief Justice of the High Court is appointed by the Presidenh® consultation with

Chief Justice of India. 3
&

&
25. WOE aun faarmE =0 . ,39
(a) WWWW@WW}@@WW
(b) Wﬁwmaﬁawﬁa?mm éﬁ%mﬁammuﬁmﬁg@m,
3,
ot Frr/H RS wE %’?\
1) (@) Q" o wo
(3) (a) 30 (b) | 4) TR @
Consider the followg atements :

(a) The Maharash{ra State Election Commission was established in April 1994.

(b) The main duty of the State Election Comumission is to conduct the election of State
Legislative Assembly as well as Local Self Government.

Which of the statement/s given above is/are correct ?
(1)  Only (a) (2)  Only (b)
(3) (a) and (b) (4) None of the above

THeAT HIFTATS AW /SPACE FOR ROUGH WORK
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26. fafewil A9/ IY© FOGHIST FIRAT TEdr=n TR & ?

(1) AR enfor Waer (2) VHIFRRI nftn FRTd

(3) AR} N0 SiRER (4) =ERH S Waerd

Which are the methods British adopted to recover Agricultural dues ?

(1) Zamindari and Rayatwari (2) Zamindari and Watandari

(3) Rayatwari and Jagirdari (4) Watandari and Rayatwari
27. HR YUR A TAh Hleelqld HERfaoi _ EW.

(1) o SRS @) U v HeR

(3) = st wewrs (4) divia safeT x@\o

The Flag of social reform movement m Kolhapur w & dby

(1) Shrimant Appasaheb (2) Ra 1 Shahu Maharaj

(3) Shivaji Maharaj IV (4) t Jaysingh Rao

28. oS! e e i \@
OB GACE é TR
@) o A Q- =

(3) <RME L e ifafaa

(4) m@ - ST

Identify the correct pair :

(1) S. Banerjee - Rast Gofter

(2) Annie Besant - New India

(3) Dadabhai Naoroji - Indian opinion
(4) Mahatma Gandhi - Bengalee

HoAT HIMHS AW /SPACE FOR ROUGH WORK
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29. Ui faoeR Irourt Tm &g TRRTRATeH JEIearaiT T .
(1) o= Ahe (2) R THe
(3) HIFS ke (4) VTG TR
The first electricity operated Tram was from Mumbai Municipal Corporation Main office
to
(1) Colaba Market (2) Fort Market
(3) Crowford Market (4) Bhaykhla Market

30. fofewidt Sow FESIR GHROT

(a) Tafee WRASR %1 () 1861

(b) I de =i (i) 1858

(c) it smERAmT (iii) 1859 ’\Q
(d) =AH IH (iv) 1880 \6 ’

it 39
@ (b (© {OQ

1 6 @ @ ) ’OQ
@ @ O @ @ O
@ G @ @) @ \LSO

@ @ @ @ @) \\

Britishers has done this Constj nal Development :
(a) Civil Procedure Co A {iy 1861
(b} Indian Penal C (i) 1858

tion (i) 1859
(iv) 1880

—

(c) Queen’s Pro
(d) Vemacula

Answer options :

(@ (b) () (d)

1 @ @ @ Q)
(2) () @ @ (v)
@) (i) @ @) v
@ (v @ @ (i)

el HFTHIS! AN /SPACE FOR ROUGH WORK
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31. it e T HerEA A .
1) oFe g (2) Y Hesl BrEe
(3) T Tt (4) I GLHSA
established the First Labour Organisation.
(1) Ramkrishna Shinde (2) Narayan Meghaji Lokhande
(3) Raghuji Bhikaji (4) Narayan Surkoji
32. BT STEARIATETS! WA SHE 91 Wt et T S
() oo foert T (2) . THIYER gt
(3) El SEiEA I (4) <l Jrem dee gt
Under the Presidentship of the Janasangh as Political Party was established.
(1) Atal Bihari Bajpayee (2) Dr. Shama Prasad Mukharjee
(3) Dr. Jagjivan Ram (4) Dr. Neelam Sanig Reddy
33. A SISl o 6 .
(a) T, FHAT HAf S () =
®) " o
(€) @'
(d) E g-ﬁ—
At I
(1)
(2)
(3)
(4)

James Stiphence

(b) Lord Cornwallis
(¢) Mahalvari System iii) Thomas Manro
(d) Rayatwari System (iv) Lord William Bentinck

Answer options :
@ (b () (@)
O @ @ G

HoedT HIHMETS | /SPACE FOR ROUGH WORK
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34. T shaite faea wes e,
(1) == (2) U =R st
(3) W ERE e (4) o AEe ¥
was not the member of the Cabinet Mission.
(1) Lord Lawrence (2) A.V. Alexander
(3) Sir Stafford Cripps (4) Lord Mount battan
35. ‘ot ufeen 7O’ T - GUROT S T ST e
(1) armErE fie (2) sAEETE St
(3) wifesitaTg g (@) fed o
The “Arya Mahila Samaj” for the reforms of women was est%@d by
{1) Tarabai Shinde (2)  Anandibai 1@ .
(3) Savitribai Phule (4) Pandita @1 bai
- BN
36. Heq HidE AR dafia
(1) St sFEifqeyE & BT
(3) e wRa § !%) e Besd STHIfgTI
organisation was as d with the Revolutionary Nationalism.

(1) Bombay Association Q (2) Home Rule League

(3) Abhinav Bharat Land holder’s Association

37. E@Ed YquyH S;; Tt 16 T 1932 Jsit A FarE TR FHa

(1) 9 AFzAes ) T aHs

(3) e HaeH (@) T e

The British Prime Minister declared the Communal Award on 16%" August
1932,

(1) Ramsay Macdonald (2) Winston Churchill

(3) Neville Chamberlain (4) Clement Atftlee

ol MG ART /SPACE FOR ROUGH WORK
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38. 5T 1948 UK i TRATS IS TeeR SRS WA A Hl.
(1) TSR gEsl ) wafsH Ty
(3) Hl. TSR (4) it SgreEmt
- was appointed as the first Governor General of India on 5% March 1948.
(1) Shyama Prasad Mukherji (2) Sarojini Naidu
(3) C. Rajgopalachari (4) C. Chandraswami
39. ufees wfeen faamdte 1816 = ait enfid Fe.
(1) e I (2) fagoRe IEE
(3) =l uiE Fuw F (4) TgTER S
In 1816 the First Women University was established by \ .
(1) Nathibai Thakersey (2) Vithald aEersey
(3) Dr. Dhondo Keshav Karve (4) God@Karve
40. "' VARG afeepa fem JeRe Hea’ %ﬁws i e,
(1) fage Tt g 62) e T

*

(3) SN F.HAR. g \\ (4) TERE T

“Bharatiya Bahiskrut Shik@rasarak Mandal” was established by
(1)  Vithal Ramji Shifly * (2) Jyotiba Phule

(3) Dr.BR. A ar (4) Ramabai Ranade
41. T8 TERRHS favme: dgqr onftr ven faendie W Sefier qore #1 TUE 2
1) e () TOTHEd (3) V& (4) ER

What is known as traditional irrigation lakes in Chandrapur and Bhandara districts in
Maharashtra ?

(1) Johad (2) Malguzari (3) Farmlake (4) Watershed

HoEAT HIAER AR /SPACE FOR ROUGH WORK
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42, WGP SO FERA FHHEE] 59 AgF R ?
(1) Ws, TR, MR, TR, TR
(2) W, T, TR, TeFHRATR, HFAN
3) W, UR, TR, HEEHMETR, TR
(4) W, IR, TR, FTR, TR
Which of the following sequence of development of settlements is correct ?
(1) Village, City, Town, Conurbation, Metropolis
(2) Village, City, Town, Megalopolis, Metropolis
(3) Village, Town, City, Megalopolis, Conurbation
(4) Village, Town, City, Metropolis, Conurbation

43. GO T Q9P 3 @ Jered 9 avg sied S,

& favmT G2 . Q
(a) i faum () STomER §
(b) gd-Hem faamr (i) YEAYR \6
© WA (@) aw <
(d) I Ty fqum (iv) F=IE (He%) @Q
It I

@ B © @ ‘Q(b'
W @ O @ (v S
@ @ v o @ \l.
@ @ @ @ 0 N
@ @ @ O @ SO
Match the following Raileones to their correct centres :
Railway Zone ¢ Headquarter
(a) West Zone (i) Allahabad
(b) East-Centr (i) Bhuwaneshwar
(¢) East Coas ore (i) Hazipur
(d) North Central Zone (iv) Churchgate (Mumbai)
Answer options :
(@ (b) () (d
) (@) @ () @)
) () @) @ ()
) .
)

(v) () @) ()

(1
(2
@3
@ @ @) @

el hHIHETS S /SPACE FOR ROUGH WORK
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44, YRARIS HIU TG §F 2015 e Higg T4 (organic state) WM Hivd &S 15 ?

(1) SEUES YW (2)

(3) dfesTg 4y faferm

Which state of India is declared as organic state in 2015 ?

(1) Arunachal Pradesh (2) Orissa

(3) Tamilnadu (4 Sikkim

45. <&M G\[EEH :

ST ELRIER

(@ T (i) TBUER I

(b) wiHe (i) Y= Friwm

(€) e (i) T nfor gEteRw .
m . \Q

(d) (iv) feamee 6 .

i 3 é
@ (b) (0 (d

(1) @) @vy @ @) @Q

@ G O @ @ @Q

@) vy @) @G (i)

@ @ @ @ 0 D
I it 1 \%

Match the following : &

Satellite Application
(a) GAGAN (iQCommunicaﬁon Satellite
(b) GSAT )‘ Earth Observation

{c) CARTOS,
(d) AGR
Answer options :

@ () (¢ (d
1) @ @) @ G
@ (v) @) @ (i)
@) ) @ @ )
@) (v) (@) @ @

(i) Climate and Environment

{iv) Navigation

oAl RIS AW /SPACE FOR ROUGH WORK
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TR Hard S T A .
(1) T SRR T SFFS (2) T &G WH SIS
(3) THIY §AFHZT AR Hehe (4) T SErEed T FEEs

In Maharashtra maximum migration is from to
(1) urban centres to rural areas (2) rural areas to rural areas
(3) rural areas to urban centres (4) urban centres to urban centres
47. Rar= I feEr Sere % Hala SfAuEEts foHm g d 6°45° I EFHER
3.
(1) &R At uige (2) GuTHEE |9 dise
(3) Ffew aie (4) TR iz
in Great Nichobar Island of India is the last place tc@s south, located on
6°45" North Latitude.
(1) Vir Savarkar Point Subhash C@&ra Bose Point
(3) Indira Point 4) TJawa %@mt
48,

Wt fauHiE atat I fHEs (bQ
(1) TRREE™ AR, §g, Fo 9 \%mﬁa’m@%mm

(2) WENISE Hiewyy, T, o ’ foreema sfemEes |13 e
(3) RIS 95, W, Fyf e sfemEes @S 7.

(4) WERTM RHTT, FEAaI o A1feren foewira s |is TR,
Choose correct ans om the following statements.

(1) In Mahara Aurangabad, Beed, Jalna and Buldhana districts have depositions
of bauxite.

(2) In Maharashtra Kolhapur, Ratnagiri, Sindhudurg and Raigad districts have
depositions of bauxite.

(3) In Maharashtra Chandrapur, Bhandara, Yevatmal and Vardha districts have
depositions of bauxite.

(4) InMaharashtra Ahmednagar, Dhule, Nandurbar and Nasik districts have depositions
of bauxite.

HoAT KRGS AN /SPACE FOR ROUGH WORK
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49, TINEHI® GHe WSl SusgT Iawhe arg %A fom.

(1) W, g, T, TTgd
(2) <miies, T, avEs, fasg
(3) Tasgd, i, T9Gd, @
(4) el Was, fasegt, avie

Write correct sequence of the following creeks of Maharashtra from South to North.

$

(2) Dabhol, Rajapuri, Terekhol, Vijaydurg 6.

(1) Terekhol, Vijaydurg, Dabhol, Rajapuri

(3) Vijaydurg, Dabhol, Rajapuri, Terekhol @

(4) Rajapuri, Terekhol, Vijaydurg, Dabhol &

50.

Wmmm ; 3. & WOt HIVAT Tl 30 S ?
SWERfEa YT Heria (2) SwfzEdE M weriE

(3) wwﬁ@w (4) SYUEHEHE IR TAAS!

Nagchampa, White Cidar, Jackfruit, Kavasi etc. trees are found in which of the following
type of forests in Maharashtra ?

(1) Tropical Evergreen (2) Tropical Semi Evergreen

(3) Sub Tropical Evergreen (4) Tropical Moist Deciduous

FoelT /A S /SPACE FOR ROUGH WORK
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51. WRRIEMI® W Sofa= Are=a1 feeenamm 4 Sirga o :

(a) TAW G T

() T (i) go@Tm
(c) TS (i) g

(d) == (iv) SR
it 3=y

@ () (g (d
1) @) @) @ @
2y (v) () @ ()
G} () @ (v} (i)
@ @O @) @ (i)

Match the major irrigation schemes to their correct districts in Maharashtra respectively.

(a) Devghar (i) Nashik

(b) Punegaon (i) Buldhana . Q
() Manjra (i} Pune \
(d) Nalganga {iv) Osmanabad 6 ¢
Answer options : é

@ ®) © (@ <Q
W) @ ) @) 6 >
@ @) @@ @ @ <Q
() @ 0 G @ {0
@ O @ @ @ O

52. Wole fayAiaR faar %4 :

G) (a)
Consider the following statements :

{a) Faridabad is a Satellite Town.

(b} It is 25 km South of Delhi and well connected by transportation facilities.
Which of the above statements is/are correct ?

(1) Only () (2) Only (v)

(3) Both (a) and (b) (4) Neither (a) nor (b}

HoAT WIS S /SPACE FOR ROUGH WORK
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53. WS THE TR Qe d T 4rg Siedl e,
. e RE
(@) TR i) HER
b) = (i) R
(©) SR (i) 3w
(d) "W (iv) HTTEl
Tatet 3wy
(@) (b) () (d)
M @ @ @ W) . \Q

@ @ 6 @ © .
&

@) ) @ @ @

@) @ @v) @ (i) %Q

Match the following Creeks and Rivers in 93Qashtra.
Creek River OV

(a) Manori (i) I(::lj;ﬂ\*6

(b) Bhateya (i) P@anga

(c) Jaitapur hisar

(d) Dharamtar

L @ @ @ )
(2 @) @ @) (@
() (v) @ () G
(@) @ (v) @ ()

HoAl FIFER I /SPACE FOR ROUGH WORK
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54, SISdl 9[eal
et TS
(a) @ (iy AmETn
() wiw@ () =S
() W ) T
(d) (iv) 3T
qatEt I

@@ (b} (g (4
1) () @ @ (i)
@ () @ @@ (@
@) v @ @
4) @) (@v) (@) (@
Match the following :

River Tributary &'
i) Tawg i %

(
() Manjara i G ’&\
(c) Pravara (1ii) &

(d) Bhima *Aner

(a) Tapi

Answer options :

a (b ) (d)
1) @v) @ @ )
(2) (v) () () (d)
3y (v @ @@ (@
4 @ (@) (@

FHoA FIHEE AET /SPACE FOR ROUGH WORK
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55. TEH TEAR yo F fegnem 9y siem aEn.

(a) 40450 4. (i) SR
(b) 509 75 |, (i) TR
(c) 757 100 9.H. (i) FTA
(d) 100 ¥ 150 |4 (iv) eI
i I

(@ (b) (o) (d)
1) @ @ @@ (@)
(@ @ @ @ @)
(@) (@ Gv) @ @
4 (v} @ @ o

Match the columns of Monsoon rainfall with respective districts correctly.

(a) 40 to 50 cm (i) Latur . Q
(b) 50 to 75 cm () Nagpur N\
{c¢} 75to 100 cm (i} Sangli \% *

(d) 100 to 150 cm (iv) Buldhana

%,
Answer options :
@ b © @ ’69
O @ 6 W @ Q
@ @ @@ @ G \Q@'
@) (@) @) ( () 6
@) v} () (D) @) *

(04%.,_ I

56. Yot € SR/ I - Q

(a) fafmg wem (b) HeIus

(c) TATIT (d) foofa 2on
TSYH HI Y S0 AR/ ?

(1) % (a) 2) @3

(3) EH () (4) Tewd

The following is/are the Functions of money :

(a) medium of exchange (b) measures of value
(c) store of value (d) standard of deferred payment
Which of the statements given above is/are correct ?

(1) Only (a) (2) (a) and (b)

(3) Only (¢) (4) Al of the above
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57. 2013-14 AHI® YA A0S T@oieus! :ivg 93 gais T a2

(1 (2) et T

(3) % Y 9 whe (4) FREA I T&

Which of the following sector is highest in Indian export during 2013-14 ?
(1) Agriculture (2) Information technology

(3) Ores and minerals (4) Manufactured goods

58. T 2012-13 = WEE {H Shon SENTER WES Sel A ugdi e

Seh Wt/ Ta Rl A
() T d% (i) am é‘w
() facuit 9= (i) Q
(c) S Tt e stk (i) e S \
(d) T T deRte I (v) 7T L

Taidt 34N
(@ (b) () (d) Q(OQ
) (@ (@) @)
wow &5

1

(2

@) @ ) @ G

@ O @ @ W ’\‘l‘
A

s per profile of Bank 2012-f 1), match the columns :

Type/Structure of ang Name of the Bank
{a) Nationalised bagk) * (i) Woori Bank

(b) Foreign ban (i) Nainital Bank
(c) Old Priv ector bank (i) Andhra Bank
(d) New Private Sector bank ({iv) Yes Bank
Answer Options :

@@ (b} (o) (4
1) @) @ @ (v
2 @ @ (v) (i)
® @O vy @ ()
4 @ @ @) @)

HeAT RWTEE AT /SPACE FOR ROUGH WORK




A 31 UO8

59. 2006 WA WAT ITHHTE ATEA LA S fer wisas aaue ware G LD
3T
(1) %257 dT5 i A (2) T 5 HIEN FHHT
(3) 5 d T 10 el AHA (4) T 10 FISHsn s

In 2006 medium - scale enterprises defined as undertaking with fixed capital investment

(1) between T 25 lakhs to T 5 crores (2) less than T 5 crores
(3) between T 5 crores to T 10 crores (4) more than ¥ 10 crores

60. 3hefiTr ST fwie ([IP) Ty Tufdie SEoT YT Jerded UG ol Kl Uefedd
1IP =41 SiTere qETYd o9 90
(1) 1993-94 (2) 2004-05 (3) 2005-06 . .Q (4)  1999-2000

IiP (Index of Industrial Production) has been revised from ﬁ? tg\ime by shifting the base

year. Currently, the base year for estimating IIP is

(1) 1993-94 (2) 2004-05 @) 2 (4)  1999-2000

61. WWWWWW%‘—&&’Q ?

(1) 1 mHar o 31 fedar Q’mae’,om
() 1 3d30A q% 1 T 31 T
Which period is called a year easurmg the National Income in India ?
(1) 1 January to 31 Dece 1 October to 30 September
(3) 1 July to 30 June . (4) 1 April to 31 March
P\
62. WA T FE1 T 4 W . 6! eieus! HIUd &7 Yoo
Tfess smfor TG A 0 ?
1) Ta<sh &= (2) GEE &
(3) It ax (4) faita &=

After Independence India followed the policy of planned growth. Which sector was
given the dominant position and was made the main instrument of growth ?

(1) The Foreign Sector (2) The Public Sector
(3) The Agriculture Sector (4) The Financial Sector

HeAT FHHHE! AN /SPACE FOR ROUGH WORK
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63. 2011 = SFUHTER THY HIATIGOME] PR W fFHdt ome ?
(1) 70% (2) 65% (3) 54.6% (4) 30%
What is the percentage of agricultural workers in total workforce according to
census 2011 ?
(1) 70% (2) 65% (3) 54.6% 4) 30%

64. Sl T ¥ FAFEAIE FOG HIE AR 2
(1) HEH
(2) TOTEER
(3) FEnHE 9 YIS
4) s T
Bank rate is instrument of which type of credit control ?
(1) Quantitative .
@) Qualitative \Q
(3) Quantitative and qualitative %‘
(4) None of the above @\
N

65. wUAHE! yafad eEeiaia wRER @ 9y %Sﬂﬁ v fadiel auqg fama

(1) (@) 3nfvr (
In Japan, fishi
coast but the output of fisheries is rather small. Which two reasons for the limited growth
of this sector ?

(a) Slow growth rate of services sector

(b) Domestic demand for fish is limited in the country

(c) Steady growth of trade, transport and communication
(d) Traditional methods of catching the fish

Answer Options :

(1)  (a) and () (2) (b) and (¢) 3) () and (d) 4) (b) and (d)

(2) () = () (3) (o) =t (d) (4) (o) suftr (d)

HEeAT RIFTATS AT /SPACE FOR ROUGH WORK
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66. [TESH @R 2012 = 9fEET YFRMEER 2009-10 B TS S I 999 HHi®
@ 2 _
(1) - BT (2) TR (3) SUWH=H 4) fs=r

According to the press note of Planning Commission 2012, which state ranks first in poverty
during 2009-10 ?

(1) Chhattisgarh  (2) Manipur (3) Uttar Pradesh (4) Bihar

67. TRF QiFdren W 2011-12 HL3 -
(a) WRATHS 29.5% DHEE JMEIEES IR
(b) Tl MM 30.9% SIHEEAT o Vel WIS 26.4% BIHAEA ANTES! L.
FoUH FR faum,/ faur skiew s/ 2

(1) FF (a) (2) K (b)
(3) (a)F (b) (4) =S TR \Q
According to Rangarajan Committee is 2011-12 : ¢

(b) Inrural area 30.9% population and in urban area ¢ population is below poverty
A line. =
.~ Which of the statements given above is/are t:oerj
)

(a) InIndia 29.5% population is below poverty line. &/\

(1) Only (a) (2%
(3) (a) and (b) . '% one of the above
68. @lﬁaaﬂﬁaﬁaﬁmﬁwamaﬂara%\\tt
(a) S TS Y e/ SIS G S TR fv.
(b) e HE T SR hHT Frow! e,
L), FEB () @ & (@)
@) (a) A (b) (4) =t T

Which one of the following two statements is correct ?
(@) Overcrowding of agriculture has led to disguised unemployment.
(b) Over the last few decades, unemployment in the industrial sector has decreased.
Answer Options :
(1) Only (b) (2 Only ()
(3) ‘ (a) and (b) (4) None of the above

o1 FTWRAE W /SPACE FOR ROUGH WORK
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69. T <TG IRA (G.D.P.) =1 :1Y AR

(a) YO TG I49EA (G.N.P)

(b) Tree T SR (N.N.P)

(c) TR <urem Wi Senied e 9% @ §al

(d) &R 3=

TSt FIVK faum/T ST o ?

1) (a) B 2 @IbFTR (3) ()N (4) (d) wH
The meaning of Gross Domestic Product (G.D.P.) is Q

(a) Gross National Product (G.N.P.) \6

(b) Net National Product (N.N.P.) ®Q

(c) Production of goods and services @Country s own territory
(d) Government Income 6Q

*

Which of the statements give& ve is/are correct ?

(1) () only &Q a) and (b) only (3) (c) only (4) () only

70. 2011 wa@mwﬁmmmmﬁtmﬁﬁﬁﬁ7
(1) 1032 (2) 1040 (3) 1058 (4) 1084

What is the number of females per 1000 males in the state of Kerala according to
census 2011 ?

(1) 1032 (2) 1040 (3) 1058 (4) 1084

e FIATHD JRT /SPACE FOR ROUGH WORK
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FATI tTHIGR0 oAl FIRIAN TRFRA Hoo! T TS TR AR,
(a) T STHE Y HHSIUAHS!

(b) TEATA FEUEI SETS GHSIITEE!

Qi I

(1) 34T (a) ® ¥ 3T W faum (b) § 36T oMe.

) Toum (a) T s R W 99 (b) € ¥ T2

(3) o faum (a) anfon (b) T ST

4) < faum (a) anfor (b) 3G ST

The Ultrasound Scanning is useful

(a) to examine the defects in a foetus

(b) for determining motion of heart valve

Answer Options : . Q
(1) (a) is True but sentence (b) is False 6}

(2) (a) is False but sentence (b) is True

(3) Both sentences (a) and (b) are True @
(4) Both sentences (a) and (b) are False Q

72.

WAGIH! HIU THEMS Tl q ) oSt T ?
(1) =© (Whale) (2) 7= 6 3) i (4) olo ud

Who of the following use infraso icNves to communicate with each other ?
(1) Whale (2) Rhi 0s (3) Elephant (4) All the above

73.

SfegT ATV oS Tt qE@dl A1 a1/ refaa.

(1) o FRERAT @) fagem (4) s
When we chang le sound to loud sound, we increase its : o

(1) Velocity (2) Frequency (3) Amplitude (4) Wavelength

74.

TEF AT TS T Y9EAgR el a1 @E St 9 ?

1) 1fFa 2) 1020 f&eR (3) 15-2 feer (4) 100 feex
How much air inhales every individual person approximately a daily ?
1) 1kg (2) 10-20 kg (3) 1522 kg (4) 100 Litre

HeAl HERS AAT /SPACE FOR ROUGH WORK
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75. TEhISTE FUIG 3UG AeRBIGHEN FAIGHIG! Hvd T (enzyme) ATIRAT 7

(1) FFeeew (2) WS 3) SERS (4) wERS
The enzyme which can catalyse the conversion of glucose to ethanol is :
(1) Invertage (2) Maltase (3) Diastage (4) Zymage

76. Il A1 ' T 3190 shEe @ SR SHa ?

(1) e SHFNFRS (2) et
(3) TS (4) A
Which gas is Responsible for “Green House effect” ?
(1) CO, 2 O,
3 N @) O,
77. WSS Sed &9l . Q
(2) fou () e N\
(b) AR (i) TS &6
(c) st (iti) R QQ
(d) wIERY vy ifafes (b.

T I ®Q
@ O © (@ QN

)@ @) @) 6 (%)

) i) @) G 6 §l~

3) ) Gv) @) @) (O’S

@ @ @ O

Match the following :

(a) Leech

(b) Octopus

(c) Dogfi

(d) Stegosaurus (iv) Annelida

)  Pisces
(ii) Reptilia
(iii) Mollusca

Answer options :
(@) (b) () |
(1) @) (@) @Gv) (
(2) () (v) @) (@
@) @ (v) () (
4) Gv) @) @)
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78. e WRABUS! SV T T Jegehadh U GeHGHRE did SATdd & 3T ?
(1) FWEH (TSTSeR) (2) SEAMS (TRHSH)
(3) iU (TEREe) @) = (Sfesme)

Presence of a macronucleus and a micronucleus is the characteristic of which of the
following classes of protozoa ?

(1) Flagellata (2) Sarcodina

(3) Sporozoa (4) Ciliata
79. RIUE (Gastropoda) S e Had Riear (valve) TGS 3T,

(1) 5&{ (Double) (2) UK (Single)

(3) gl (Quadruple) (4) faRd (Triple)

Class Gastropoda include snails with valved shell.

(1) Double (2) Single

(3) Quadruple (4) Triple ’\0
80. SEA oM ;

@) ey ) S ¥P AT IRy zrcﬁﬁ \

(b) TR (i) B RS Ry Q

) Tasiera (i) TR ASREY wEd (b'

(d) SrFHEEd (iv) SR ;{rz»ﬁﬁre(bQ

gt I :

(@ (b) (9

@ >
M @ @ O @ &

@ @ @ 0 @ tb.

@) (

(

@) (v (@ @ Q

@ @) () (v)
Match the following :
(a) Holotype When nomenclatural type is missing
(b} Lactotype Original nomenclatural type
(c} Neotype (iii} When holotype is missing
(d) Isotype ({iv} Duplicate of holotype
Answer options :
@ ® © @
O @ @ @ G
@ @) @ @ )
@) (v @) 0 )
@ @ @ @ 0
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81, IO ¥ WEwTe NNhEe SEHie A EE] Woteid! F1E R

(1) Tt 3 4RI 9T arefad

(2) AT HiE=n wAa=g forda W o

(3) OHE WIRHA FHEGGd

(4) TStH w6 T

| Potassium is very important nutrient for plant growth, because :
(1)  the entry of water along minerals is improved

(2) itis involved in organic acid metabolism

(3) itis a activator of many enzymes

(4) all of the above é&
K G
82. FEUCI= WMYHI SIS Hai=a1 MEme Tgsd @ Tare feedieRto B, & iR
14 e ? %’
(1) reEEHA
(3) fEHTORE \l_@
Root nodules of leguminose ntams colour pigment responsible for nitrogen fixation

which is called as ___
(1) Anthocyanin . (2) Chlorophyll
(3) LeghaemogRky (4) Haemoglobin

n

83. WIS SN Yoa i d-12 A1 SHhaTaarE S A ?
(1) wifeseTq 2) PERE (3) iR 4) W

Which of the following elements is component of Vitamin B12 molecule ?

(1) Molybdenum (2) Cobalt (3) Manganese (4) Copper
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84. SRfaE federdta wmM=m: fasi-disare 3, I fohar Sioar, S wgfvd e Tsar F sarsm
TeEeme faum] ITEd), e Y Som U0 M. ol wivmn famey a1 e
IO 3TN 1 Tooal.

1) federda T faumy @) Federdg ot faumg
@) Tetagdim it fawmy (4) Tederdm @ fammg

Infectious hepatitis is usually transmitted by fecal-oral contamination of food, drink or
shellfish that live in contaminated water and contain the virus in their digestive system.
Name the causative agent of this disease from the following.

(1) Hepatitis A Virus (2) Hepatitis B Virus
(3) Hepatitis G Virus (4) Hepatitis C Virus
85. WIA@I! FIUE G SIS 3TEd 7 %§Q
(a) I WEreR famed Svge HRUiT o9 Q\
(b) WeOSE 9IS faued &® yohdm. (OQ

(©) ﬁwagwﬁw@ﬁmwﬁma@
(@) ﬁmﬁzﬁmwﬁﬁa&mm@
it I

QR
1 () (d ) (a»Q(QcS @ W (@) TS AR

*

Which of the statements

low is/are correct ?
(a) Fungi are respon@ilje for deterioration of petrol.
(b} Microorganism®¥can detericrate metals.

{c) Bacteria and Fungi are agents for deterioration of plastic.
{d) Bacteria are unable to deteriorate cosmetics.

Answer options :

1) (@) (D 2) (@, (b)) () Al (4) None
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86. & e faumHa 1 9 11 @1 w1 Teas Gt omga. TR = 9% FE AE 9 9F4
- e, WWWWMWW/WW%WW(WW)
38/ 3mméa aren faolz o .

faum: T THYE Hea-qel AR avRal S Y R ST
ThAF () TV T How V.
(an  rETa avEl g T e

yiEr 39
(1) TS (1) Aafifea 7R (2) RS (1) fafifeq s,
(3) (D) (1) wafifea s, (4) <= IS (1) S (10) siarife s,

A statement is given below followed by two assumptions numbered I and II. Anassumption
is something supposed to be or taken for granted. You have to consider the statement and
assumptions and decide which of the assumptions is/are i {indirectly suggested) in
the statement.

Statement : Ramesh advises Umesh - work hard %s‘uccessfm in your life.

Assumptions : ([) Umesh listens to Ramesh’s @te.
(II) Being successful in life @rable.

Answer options :

(1) Assumption (I} is implicit. @ ssumption (II) is implicit. |

(3) Either (I) or (IT) is 1mphc1t Both Assumptions (1) and (II) are implicit.

87. M,T,J,R D, wammqQ = A, Baﬁcmwﬁﬁmmmﬂ. e e fEaE

I =H ARA. = 3T TAH MEM TH WS AR, T 91 Afds FE Q 4T
FfFaRIa o < § 1 B MEA Y96 @ 30, M & =&t A T MERH ¥ar|
F AR, D \ "1 St C TMEA T 40 e, | & oa sfee e | W 8 oaet
HfgeT 3. FHIIET MERA TAF Hd 3R ?

1) A 2) B 3 C (4) Al T R

Persons M, T, ], R, D, W and Q are travelling by cars A, B and C. At least two persons are
occupying each car. Among them three are women and there is one woman in each car.
Person T wants to lravel only with Q and they are travelling in car B. Person M is travelling
in car A, Persons D and W are not travelling in car C. | is not a woman and W is a
woman. Then by which car person | is travelling ?

1) A 2) B 3) C (4) None of these

ool HHTHIGS FRT /SPACE FOR ROUGH WORK
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88. WEAS MFHdd IR = fafaaemia snf fafoads smoen R fouande Hw
1 T&H® e, Toka fagiaar R ager=n diade fogdl 9@ B sa it sgyer=n

Hiren e e e | 50e | TR SRS 1+g_1 T ST, I e
T H 38T W faeeg TR 9 S9%es 91 (HEE fae

1) 15 @ 16 @) 17 \% 18
S

ots horizontally and vertically

r of dots on the boundry of the
e polygon, then area of the polygon

In accompanied diagram distance between any adja
is 1 unit. According to Pick’s theorem if B is the
polygon and I is the number of dots in the interi

is givenby I + .];_ — 1. Select the area in s
If you are sure about the formula. , N\ I

L 2

M 15 2 16 @) 17 (4) 18

oA HIWAS ITN /SPACE FOR ROUGH WORK

P.T.O.
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Hrar=a TeT=A A= 31+ 4 107 X A Y 7 ot fager e vae wenfeara v
ITHYIN T ¥ /T qeierom g9ty e,

T WU HEAA Ak T ]
21 feen ant ergea

—"@],??5
Sl
W

(1) 5 2y 7 (3) 9 4 11
Study accompanied road map and select the option that indicates all possible routes from
X to Y without touching a point twice.

Curves and lines with two arrows
indicate two way routes

Axﬁ‘ :\.xh Q
— N
\ . _g/ 6‘
N.\ 7o

1) 3 @ 7 (3)

90.

L Q
@mwmmmwmw%é

chikerkurrip BN hirdhouse; phyck bluebird & phycbrell TS bluebell.
houseguest B ¥&aT=1 HAH ‘HT&?ﬁE ' .
(1) dropchiker (2)  chik; (3) chickerrphyc  (4) bellchicker
Given below are some words ed from artificial language.

chikerkurrip means birdho yckurrip means bluebird and phycbrell means bluebell.
Select the code for lmusggu in this artificial language.

e

(1) dropchiker * chikerrdrop (3) chickerrphyc  (4) Dbellchicker

' —

91.

N\

/’ﬂ t -
©» T e 2% ) @) *}?}{

Select odd set of arrows from accompanied sets.

: | |
) G, % @) ﬁ @ ‘%ﬁ,

AT HIATHS AT /SPACE FOR ROUGH WORK
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92, T oo mifeshea Hewid FI0d S1aR T A=A SRS GEL 318 3 TH AN I
B[ 38 A el A& TEHST 4918 AR I E &= SEhed faw=r soedn for H
HERA ITAHGT U1 ST AT THY 3R,

ABCDEFGHI]

1) ] (2) D 3 H 4) A

What letter comes second to the left of letter that is immediately to the right of letter that
comes four to the letter that comes midway between the letter third to the left of letter E

and the letter two to the right of letter H, with respect to following sequence ?

ABCDEFGHI]

M I 2 D @) H 4 A
93, TH TN Y& YRt® Q7 ST qraaeargam wel s Gt 1 . Tren o Graeem
YRR &= @HA e 31 e,

%
] = N
P O ’09

(1) dieu fea o .&? o e wigw fohan AR

(3) W AR ‘bs 4) T Wieq

Surfaces of the cube are ¢ &vith six differcat colours as shown in following figures.
Select the colour of the e that is definitely opposite to blue coloured surface.

(1) White or Red (2) Red or White or Orange

(3) Only Orange (4) Only White

FHeAT HIHHS AT /SPACE FOR ROUGH WORK
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94. UHI YA HIG @hH Blal. HETA Sar fad SR Sgai 93¢ feean, S ff wdw @@
s S99 e TreaTeh ! W g B onftn  Wele 9eid 100 2. s o e Tgeg
o VFIEs Jearde o Wk JEaem varg fasr.
(1) 93.75 (2) 92.75 (3) 90 (4) 91.50
A devotee had some amount with her. She visited four temples on her way. As soon she
steps inside each temple whatever amounts that is with her gets doubled and she offers
T 100 in each temple. When she returns from the fourth temple no money is left with her.

Select the option that indicates the initial amount that devotee had with her.
(1) 93.75 2) 92.75 (3) 90 (4) 91.50

95, TN 9 foa=n o= F19 i ¥ oot ] s et Sewin sHR Asar s i 2n.
g TR 99 B 9 AEVE o 399 T4, GuH Rl [Rie 9w diffaot
3R

3, .Q
< woh S 1t A9E aHel AR S U] S, AR,

H HIE e I e TRl (b'

feoswa qatwiq wean Fa=a 4 e -

(1) 3 femn e e IS S=en T AT WfEd Stevas 3
(2) TN

¢ \jg?
(4) &\
Yesterday, Aisha and her h d, had invited, two couples with different sex, their
neighbours, for Iftar party. y all sat in a circle and food is placed in the centre. Aisha
gave vou following fac

Dany sat to the left

<
oman who sat to the left of a man who sat to the left of Anu.

e man who sat to the left of the woman who sat to the left of the
man who sat left of the woman who sat to the left of my husband.

Dinu sat to the 1€ft of woman who sat to the left of Raja.

I did not sit beside my husband.

Select the name of my husband from options.

(1) It is necessary to know whether other women are sitting beside their husbands or

Esha sat to the le

not
(2) Raja
(3) Dinu
(4) Dany

e HUEIS AT /SPACE FOR ROUGH WORK
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e
X
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QRN @ 0 @ | <= @ [l >

If the transparent paper sheet X with figure on it is folded to get fold with figures as
shown, how would it look like when it is unfolded completely ?

(X)
% —o
OIS @ | ®)
97, 9t QAT ¥ agSIr=n U fafvre feasi Ao o o1 fgasht U dioae. 3
T4 feasht et Qi Siead. WS = gEe fau Fe

feam1; ' WwErd st e
feag 2. ‘'ond EER, Woar % ¢
feama. ‘i guart s e,

gt wEfE = feasht v == frae w1,

(1) | (3) ¥R 4 YFIR

Shree Sarvapriya es fast on the particular day in a week and speaks truth only on
that day. On all'dtjer days he speaks always lies. He made following statements on three
succéssive days : '

Day 1:  “Ilie on Monday and Tuesday.”

Day 2:  “Today is Thursday, Sunday or Saturday.”

Day 3:  “I lie on Wednesday and Friday.”

Select the day on which Shree Sarvapriya speaks truth only.

(1) Monday (2) Tuesday (3) Wednesday (4) Friday

oAl THTTES 9 /SPACE FOR ROUGH WORK
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98. TEa=A FHNEET TSI FGH GaR FI0 I 3 3790 ylawi=t fras &

(a) (b) (c) (d)

1) (a), (b) 2 (9 (@) G) © @ 4) (© O®

Select image/s that can be composed by folding accompanying paper sheet :

.\b-'
99, mmﬁw1man% A uﬁaﬁwmmwmwﬁmﬁaﬁwﬁw
 Hig1 AR 2

TiTesal, FrEu TR, WIgUS
4) TUER, EIT
If today is Monday, August 15 and 1% day of Shravan then which day and month will
come on 29t day from tomorrow ?

(1) Tuesday, Shravan (2) Tuesday, Bhadrapad

(3) Monday, Shravan (4) Wednesday, Bhadrapad

oAl HIHMEIE! ST /SPACE FOR ROUGH WORK
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100. T T&! STHEA WU JTed 8. I AATA 91 SEihe Fe 9 THEMH! STdages Fa anf
M TS FEHH 64 T 9 95 oK. A1 Tk T Hiorn ffn o o ?
(1) IW (2) =faq (3) df=m 4

A river flows from north to south. On the way it turns left and go in semicircle round

hillock and then it turns left at right angle and continues to flow. In what direction the
river is flowing at this point ?

(1) North (2) South (3) West (4) East

-00o0-

T TS SR /SPACE FOR ROUGH WORK . Q
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®) wefwaed fafen Form fafire Srie 5= F (6 96) A, TEgfassafia Swarrat @
TR FIEER F= T FOI o FIU F RAF FO AR, W AHS TS 9§ WIER IHTHEL
AR S o ' s g TR ey soameed AfufEe-82' ot e HRan
FOU A 9 AN el FUIG T AU HISHE A0/ R 39 T TR W S e
T B,

(9) TR TTRER ST fafen FOS A2 TIRAHR IHEANE € TYREEH W ada Tirhaee
I WIUIE WA SR, AT Qi fTeIe SaryEl IHTEri ATqed IAaar WiTT-1
AIAGFTH S 1 Faar T TR0 AEvaF A

AT Yo
Y. W. 201. A 910 7% FOGMEET SV god: T e 7
(1) wH TIAe qeEEd @ TaEs famEm
(3) TN TEHE @) ﬁq@rmﬁ@@s’\o
B YN A FaE Y (3) T THeEE 19 o AR TER R “(3)" o, awd
TN T %, 201 Wie sw-wEE Q) (R e Tl e s e
wwa. D Q@ @ @ Q
I TEH TR IYfasdie T SAGHATE B TR Wi et
SoufFRad® =0 @ i fefyq ade qoivd BHifed w&9 qraaE.  PrEwRkar
mmwﬁ%aﬁa&w‘ o1 iR U aae L
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